Calcular Porcientos (H)

Calcule el porciento o valor que se pide.

. ¢Qué porciento de 681 € es
681 €7

. ¢Qué porciento de 3.020 € es
2.416 €7

. ¢Qué porciento de 8.232 € es
2.058 €7

- ¢Qué porciento de 900 € es
405 €7

. ¢Qué porciento de 9.140 € es
457 €7

10.

;Qué porciento de 8.231 € es
8.231 €7

;Qué porciento de 540 € es
513 €7

;Qué porciento de 8.940 € es
8.493 €7

;Qué porciento de 1.512 € es
378 €7?

;Qué porciento de 760 € es
722 €7?
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Calcular Porcientos (H) Respuestas

Calcule el porciento o valor que se pide.

. ¢Qué porciento de 681 € es
681 €7
100%

. ¢Qué porciento de 3.020 € es
2.416 €7
80%

. ¢Qué porciento de 8.232 € es
2.058 €7
25%

- ¢Qué porciento de 900 € es
405 €7
45%

. ¢Qué porciento de 9.140 € es
457 €7
5%

10.

;Qué porciento de 8.231 € es
8.231 €7
100%

;Qué porciento de 540 € es
513 €7
95%

;Qué porciento de 8.940 € es
8.493 €7
95%

;Qué porciento de 1.512 € es
378 €?
25%

;Qué porciento de 760 € es
722 €?
95%
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